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Note :—  The maximum marks pﬁﬁted on the question paper are
‘applicable for the candidates registered with the School
of Open Learning. These marks will, however, be scaled
-down proportionately in respect of the students of regular
colleges, at- the time of posting of awards for compilation

of result.

Note :~—  Answers may’ be.written either in English_qr in Hindi;
but the same r‘nedium should be used throughout the
paper. .
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Attempt Five questions in all.
All quesFions carry equal marks.
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“Managen";ent .Accoum'ing is the presen-mtion of accounting
information in such a Way as to aésisl the management in the .

creati'on_of policy and in the day to day operations of an

undertaking.” Elucidate. 15
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(1)

A Comi:aﬁy producing a single prc_)ducl sells it at Rs. 50 pér
unit. The unit vﬁriable cost is Rs. 35 and fixed cost- amounts
to Rs. 12 Iakhl per annum. With this data, you are required
to calculate the following, treating each as independent of

the other :
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P/V Ratios and break-even sales

New break-even sales if the variable cost increases by

Rs. 3 per unit, without any increase in the selling price.

Increase in the sales required if profits are to be increased

by Rs. 2,40,000

Percentage increase/decrease in the sales-volume units to

offset :

“{a) An increase of Rs. 3 in the variable cost per unit.

(b)) A 10% increase in the selling price without affecting ‘

the existing profit quantum.

Quantum of advertisement expenditure permissibie:to
increase the sales by Rs. 1,20,000, without affecting the

existing profit quantum. Ix5=15
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Distinguish between Absorption costing and Marginal

costing. . 15%2=15
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How is cost control different from cost reduction ?
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The standard material cost for 100 kg of chemical D s -

made up of :

Chemical A—30 kg @ Rs. 4 per kg

ChemiCal B—40 kg @ Rs. 5 per kg

Chemic;al C—80 kg @ Rs. 6 per kg

In a.batch, 500 kg ‘of chemical D were produced from a
mixof

Chemical A—140 kg @ -r;ost‘ of Rs. 588 |

Chemical A—220 kg @ cost of Rs. 1056

Chemical A—440 kg @ cost of Rs. 2860

How do the vield, mix and the price factor contribute to
the variance in the actual per 100 kg of chemical D over -
the standard cost. 15

PTO.
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Proper interbmmti6n of vaf'iances from standard is \;'ely important

for the success of standard costing system as a tool for cost

control. Mention some important factors that must be borhe in

-

mind while interpreting variances from standard. IS



(7) 9597
o @ T #) df e, T e fe
TR W R & fou, are fEan ® 0 e
% ®v #, areda weey & I.WWWW
Seéve. i e W R el %) wren e
o d @ 9fen |

Cr

(3rer=)

(a)  ABC limited has been working below normal capacity due
‘ to recession. The directors of this cdmpany have been
apprqached by a customer with an enquiry for a special
purpose job. The costing department estimated the

following in respect of the job :
Direct materials Rs. 60,000,
Direct Labour Hours 800 @ 25 per hour;

Overhead costs (normal rates of recovery variable

Rs. 10 per hour and fixed Rs. 15 per hour)

The directors of the company seek your advice on the
minimum price fo be charged. Asssume that there are
no production d_]if'ﬁcultics regarding the job.

PT.O.
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What is the difference between relevant costs and

‘
irrelevant costs ? Explain. 15
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What.is meant by Zero based budgeting ? What are the essentials

of introducingla system bf zero based budgeting ? Explain in

 brief -about the drawbacks of this system. 4+6+5=15



. (9) 9597
¥ o s freir @ s wmowmed €2
 wf A frefn vsft BOgE 70 F
s @ € > "aw # @ wgh w SHE R
=R N |

or
(319=N)

The following are the details of the budgeted and the actual
_costof X Production Ltd. for six months from January to June,
2011. From the figures given below, you are required to prepare

the production cost budget from January to June, 2012.

January—June 2011
Budget - o Actual
Material cost’ Rs. 40,00,000 Rs. 39,90,006
(2000 MT @ Rs. 2,000) (@ Rs. 2,100)
Labour Cost R 8,00,000 Rs. 7,99,920

(Rs. 20 per hour) (@ Rs. 22 per hour)
Varigble Overheads Rs. 2,40,000 . Rs.2,16,000
Fixed Overheads " Rs. 4,00,000 Rs. 4,20,000

The budgeted produétio‘n for first half of 201 1 was 26,000 units,

whereas the company produced only 18,000 units during the

period. o
PTO.
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In the first half of 2012, production is budgeted for 25.000 unis.

Material cost per tonne will increase from tast year’s actual by

Rs. 100 but it is proposed to maintain the consumption efficiency

of 2011 as budgetéd. Labour efficiency will be lower by another

1% and labour rates will be Rs. 22 per hour. Variable and Fixed

Overheads will go up bj'-20%'over 2011 actual. 15
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“The aim of responsibility accounting is not to place blame.
instead, it is to evaluate performance and provide feedback so

that future operations can be imp;‘oved.” Discuss. 15
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(@) What is Responsibility Cerntre ? Discuss briefly t.he natu.re
::)f various type_s‘ of responsibi]i{y centers. 0
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{6)  State the essential features oAf relevant cost. . 5
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